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30197622|(anine A4 qC untth 1690 700 1183
30192740|Gnine A4, gnitiwynp QL wint 1250 50 62.5
30197635{(@nue A4 hwuwn, wwwnyngph hwdwnp S wnntth 4875 5 24.4
30197621 D hwswpuip penine aL hwn 2400 10 24.0
30197231 by Qg hwwn 8| 12000 96
22811150 Unpwinbiup A4 uu hwtn 360 50 18.0
22811150 Lnpuintitnp AS UL hwwn 150 300 45.0
22811150| Uinpwintiinp opwgnygny AS Q< hwwn 1650 40 66
39263200 Spwubtjwlwht dunjwu 60 ty uu hwtn 550 20 "
30199232|Tpwp A4 ag huwn 28 500 14.0
30199230{0pwp A5 Q< hwwn 20 500 10.0
30199280{cpwn thnpp Gplwp q< huwwn 8 1500 12,9
30192128|9nhs ul qbijwip q< hwwn 150 100 15.0
30192121|9nhs /Juwnywn/ G hwn 60 500 30
30192121 |Qnhs /quipdhp/ a< hutn 60 150 9.0
30192122{9nhs /uly/ Q< hwin 60 100 6.0
30192130|Uwwnpin upwd, ntitnpub gugngny, No HB qg hwuwn 100 150 15.0
30192720| Sdwushs ,dwplbp, pungdtint hwdwn QL hwtn 130 150 19.5
30199430 Lpnuiutiph RnLRE 9L hwun 190 154 29.3
30199410|huptwunuuaynn pnne /G)pY/ Q<L hwn Fis) 31 3.8
30199420| Lonuiutiph e unuudwdpny a< wnntith 390 100 39.0
30199420 towlpwl gnitwiynp A4 QL hwn 275 180 4.95
30199420| Ywsniu q< inntth 150 50 it
30197111 {4wnhsh wubin thnpp qL wnith 100 20 2.0
30197112|4wphsh wutn dbd 24/6 4L wnntth 200 100 20.0
30197321|4wphs 25 boh hwdwn Ve hwtn 780 10 78
30197322|4wnhy 25 -50tgh hwdwp QL hwwn 2000 10 20.0
30197340| Uwwlywnhy QL hwn 140 10 1.4
30197230} @npwwwiwy Yunwylwny 9L hwn 90 50 4.5
30197235 l@npwwwlwl uandwyny Qs hwwn 295 30 8.9
30197230|@npwwwlwly nbghuny oz hwn 300 60 18.0
30197232 |Upwqulwpubp, undwpwpnph QL hwwn 120 100 12
22851100| Upwqulwputip wwuwnhy uu hwn 210 50 10.5
30197233|@npwwwlwl phiny 9 hwwn 68 1500 102




30197230} l[enpwujwlwl-ntghuwnp plonwlwuph S huwin 650 200 130
30197230| pnpwwwuwy-1 9L hwin 650 100 65
30197230 pnpwuwwlwl-2 S7d hwun 550 120 66
30192710|Unupué dwinhin Q< hwin 279 120 335
24911300{Unuhud htnnuy uu hwin 150 10 1.5
30197331|Ywljh pwitintiny /30 koh hwiwp/ A huwtn 1830 5 9.2
30192160 Twphfu 9L huwn 170 00 17.0
30192160|Cunphfu gphs 9< huwn 270 20 5.4
30192100| Nbwnpu G hwin 108 20 22
30192125 | Ypwuinwfunwyh dwplbp, Yuwynyn G hwun 210 30 6.3
30192125 | Fpwinwiunwlih dwpytp, Yupdhp Q< huwn 210 10 2.1
30192125| Y pwinwtunwlh dwpltp, ul Q< hwn 210 20 4.2
39241210 Ulypwitn Ul hwtn 420 10 42
30192133|Uphs Q< hwun 180 30 5.4
30192210|UYyny dbd 9L hwwn 350 50 17.5
30192232{UYns prpb G< huwtn 450 10 45
30192220|Uyns thnpp Q< huwn 100 100 10.0
301922306 pYynnduwh ulyng qc hwin 460 10 46
30141200| <wpqwuwpp gg hwun 5450 5 27.25
30197220 (anph wdpwy /ubndwly 19 dd/ q< innteh 240 10 24
301972213 npeh wdpwl /ubindwly 51 W/ Q< inntth 890 10 8.9
30192114 fgwuwp Yuhph Yuwunyn QL hwtn 240 10 2.4
30192111 | 4uhph pwpdply R45 Juwnywn FL hwn 2500 10 25.0
30192111 fGwuwph pwpéhly Ywwnyn QL hwtn 280 4 1.1
39292110| S punnwiunwl $ihuy-swpun uu hwn 33000 2 66.0
30195900 Spwunwpunwl wwunh 9z hwn 20000 2 40.0
Pwutnwpnebph hwdwp Bwiwnbugws,
30193200 |ubinwuh Upw npdnn nwpwlwswptp Qg hwn 4300 <] 2.8
SpGuwlwu whunypubiph nuuwynpiwl
30193110 |hwiwpwuplbip /Spswdwl Yndwbluw/ 54 hwn 3000 5 15.0
39292120| Spwwnwhinwlh dwpphsubip uu hwuwn 560 15 8.4
39241141 | Spwublywlwiht nwuwl Uu hwn 95 15 1.4
39292530|-Lwunu uu hwin 190 10 1.9
44921600 4wyhé uu winuh 160 10 1.6
30197120 | 4ntigwd gniiwynp 9L winuth 246 15 3.7
30192732 “wqiwpwnwlwl quuwlwlubn G< hwun 100 200 20
30192730 Fwnwlp/Ywqy/ Q< hwwn 100 200 20
30192731|(dwnwup/ywqd/216*303 9< hwwn 100 100 10
42991310 | Lwdhbwghuwyh uwpp uu hwtn 40000 1 40
Lwdhuwghnt pwnwbptbp gnpwpwwhlubiph
30192731 | hwdwp G hwn 300 200 60
37451820 Upguitwluht qujwp uu hwtn 4000 7 28
39561133 |Phje /wljwuwpwpu/ Uu hwn 180 150 27
39292130| <nipwinwhunwly uu hwn 20000 1 20
39298100|Tpowliwly A4 uu hwn 1500 35 225
22451290 | Cunphwlw|wghp uu hwn 300 300 90
UyipndEpbtiw
34111130{Uywnndbiptuw S hww| 18500000 1 18500.0
Lbphwpwgnmigsuwljuli Swfuubp
98391160 | Litipyuyuignigswlywt dwiuubn uu huwtn 2000000 1 2000




Stupbuwljpwt

19441200| @t Uu dtwnp 4 1000 4.0
39831240|Uwppnn ujnyatip /dwyby/ uu thun 120 300 36.0
39812600|Uwppnn thnahubip /nwfupw/ uu hwtn 580 200 116.0
39831283 |<wwnwlh (wp uu hwwn 560 300 168.0
39831245|06wn hinniy uu (hwp 210 260 54.6
39831241|O6wn atinph uu hww 150 100 15.0
39831242{®noh \ywgph uu ug 750 50 37.5
39831243 |Ldwgph thnoh wyinndwin uu Ug 700 20 14.0
39522330|Uwppnn Yunp /9uong/ Uu hwtn 400 330 132.0
39522330|Uwppnn Yuinp /wwwyny Ju hwin 450 200 90.0
39811300|0n pwpdwglnn Ujnyz orjwglipdhy uu hwn 450 150 67.5
18141100 2knung pwuynpwljwl /dwwntbpny/ uu qnyq 230 80 18.4
39831247 |Ufutnwhwnn Ynie uwbhwugnygh hwdwp uu hwun 700 250 175.0
39831280 |Uwwyph dwppbint htnnty Uu hwtn 280 100 28.0
33761000|Rniqupwuh pnine uu huwn 90 3800 342.0
39513200|Uuakinnghy uu hwwn 50 250 125
19641000 Mwiply wnihtphiEuwhl/dEd/ uu huwin 50 250 125
19641000| Mwnl wn(htrhjBUwjhu/thnpp/ UL hwin 8 2750 220
31531300| £y, jwduy (b 204w, E-27 uu hwn 810 20 16.2
31531300|ky, jwdw |G 124w, E-14 uu hwwn 800 50 40.0
31531300|k). Lwdy |t 9duwn, E-27 uu hwn 800 80 64.0
31521210 &, pwdy tywund 204w, uu hwtn 400 200 80.0
31521220|ty. |wiwy Hywund 404w, uu hwtn 400 180 72.0
31531300| & jwdw 120x18, Lbn uu hwn 450 200 90.0
31531300| k), qwdw (bn 124w, uu hwun 2000 8 16.0
31531300] L, |wdy |tn 9dun, uu hwwn 1800 10 18.0
31531300}k, (wdw (En 18Yw. uu huwitn 2700 10 27.0
31531300|ky, jwdw (bR 45w, Uu hwn 9200 8 73.6
31685000 Gplwpwgdwl (wp 54, 4 wbnuung uu hwtn 2000 20 40.0
31685000{plwpwgdwt (wn 3 4, 5 whnwung uu hwtn 2150 10 2.5
31440000 |Uwpwnyng uu hwin 4600 1 46
31442000{Uwpunlyng AA Uu hwun 80 150 12.0
31441000 | Uwpwnling AAA Ul hwin 80 150 12.0
44191700 £, wwinpnu/2niguipwlh, YEpwdhulwy/ uu hwtn 200 25 5.0
44191700 |4npnp 25x140  1=24 uu hwn 750 8 6.0
44191700{4npnp 1.6x1,6 =24 uu husn 350 15 5.3
44191700|4npnp 3x1,5 =24 uu hwwn 250 30 75
44191700|4npnp 2x1,5  1=24 uu hwin 250 50 125
44322200k qwp 2x1,5 uu huwin 230 100 23.0
44112660 | 4wnuhq whunwwuwnh 95795 uu hwtn 10 1000 10.0
44322200|k).jwp 2x2,5 uu dkwnp 230 200 46.0
38621200{Cwykth uu hwn 3000 2 6.0
39221500|Uwhpw) wdwl quint Uu hwn 200 30 6.0
39221490|Uwyniug uu hwn 120 50 6.0
39221490|Uwniug wdwt Ywint hwdwp uu huwtn 200 160 32.0
39531800|S%npgbp, 26uph dnunph uu hwtn 4000 2 8.0
39221490| Uwniug/3udx1dx2d/ pdy.puwnpe. hwdwp uu hww 3500 1 3.0
24911500|Unuhud /wtnpnani /,754] L hwtn 1400 2 2.8
31531300 Ey.qwidwy 120/36 uu hwwn 450 50 25




19210000 2pwlwyniu Yunp uu gd/d 256 3360 86.016
39221480 2niquwpwuwynuph funquitiwy uu huwin 2050 24 4972
3255170 <bnwfunu uu hwtn 8000 10 80
18421140|Ublwugwjw oguwgnpddwl dbnung Ju hwtn 44 320 4.1
Uwutwghwnwlwl hwgniuw, hwnny
wpinwhwgniuwn U wywpwgwubn
18110000 | U wutwghwnwlwl hwgniuun uu hwn 20000 15 300.0
Hannpuwjp 0
33691176| thnnpw)p uu hwwn 95000 1 95.0
24451140] Utuwnwhwups Ujnie uu (hwp 2300 350 805.0
Chuwtyniye
14211000 | Udwgq uu wwpnly 370 30 11
44111200 Stdkuwn uu g 350 70 245
4431 30| Ubnwnwljwu gulg Ul u2 8 1200 9.6
44911400} Spwuhwnb pwp gpdwdpny Ju hwwn 1 97000 97.0
44521230{Udpwl dnuwnwdh N1 uu hwwn 10 300 3.0
44521230 Udpwy dnuwnwdh N2 uu hwn 10 300 3.0
42131480 | Dwlwuh dhenty uu hwn 1500 90 135.0
31211140| 5| wywhnyhs dhwwg 32A uu hwtn 2000 S 10
31211140 wwwhnyhs dhw$uug 40A uu hwwn 2500 125
31221242 Hyniplip dhnwnwlywu uu hwn 200 15 3
31221242 Hnipli) 6 uu hwwn 10 800 8.0
31221242 Hniph| Yufuhsny uu hwin 250 4 1.6
31221242| Hnipl) $8 uu huwin 10 200 2.0
31684400 | Ywpnwl wpunwphl uu hwuwn 750 20 15.0
31684100 |Uugwinhy wpnwphu uu hwitn 750 5 3.8
42131100|2np thwlwu uu huwwn 7500 35
42131100{2ph thwlwl uu hwwn 3000 10 30
31711250 | U burnwnwlwu Gyniu funnnguly uu dewnp 300 40 12.0
31683400|Gnwpwzfuhy Uu hwn 350 15 5.25
444011110{2ph dnpwl dBY thwlwuny uu hwwn 3500 8 28.0
31711250|8ugnin pwnupph uu hwtn 1600 20 32.0
31711250 Bugnifuh Gyncu funnnyuwly 1.54 uu hwwn 1200 20 24.0
44411110]2ph fuwnuhs funhwungh uu hwtn 4000 35 140.0
44112520 | tunnndwlh wdpwly 1/2 nynud uu hwn 150 30 4.5
44411110(2ph fuwnuhs pwnuhph uu puiLn 5200 20 104.0
31711250 tunnnywl GYyntu fuwnuhsh 40ud uu hwtn 1200 20 24.0
31211180|Uugwnhs 2 inbinwlng Ju hwtn 700 20 14
44411110 2ph fuwnths wwwnh uu hwun 5500 10 5510
31686000|hupng Liypn uu hwn 300 40 12.0
44311100 Ubnwnwiwp F-1dd uu Ug 1200 4 48
44191700{Pwsnly ppnugt 1/2° uu huwn 300 20 6.0
44191700 |ubpnhp ntightb 1/2° uu hwn 50 80 40
44411741 gndnb ru hwwn 2500 15.0
44411742 2nigunwuwlnuph dbfuwthgd uu hwwn 3000 18
44110000 | Uitnwnnuywunt wulyniuwy 1/2 nnyd uu hwtn 250 40 10.0
44511100 LpYwpwph gutiuy, uu huwn 1600 1 1.6
42130000|Pwlwu uu hwn 1500 15 225
42130000{2nnynn thwlywu uu hwiun 2500 4 10
42131470|2ph dnpwyh dhonily Yhu wunyuny uu hwwn 1000 20 20




42131470|2ph dnpwlyh dhenty unynpwluwu Uu hwtn 800 15 12
31211180 Uywnindwwn wugwnhs 60 U Uu hwwn 10000 1 10
44191700| 5gpwdwwwdbu Ywhnyph, tnwppbp uu hwn 3000 2 6.0
31711160|EjGYwpnn 3dd uu tnntth 4200 1 42
19520000 ugwi wywudwuls' swihp 1/2° uu hwn 250 6 L5
14411100 Stfuupywlwu wn uu lag 150 50 7.5
44423220|Ubnwnuwlywd hwijwpnuh wunhéwl uu hwtn 70000 1 70.0
44521120 Fnwu hwlwuubp Ywiungh uu hwtn 1500 4 6.0
44221141 [ Nwunnthwuh pntwly uu hwn 1500 20 30.0
24951130|Upihynu uu hwn 1000 5 5.0
44521120 Pwlwu nnwu uu hwn 2200 10 220
44221141 | nwl pntiwy Uu hwun 2000 10 20.0
42131490 uh$nu Ywgwpwuh uu hwtn 1000 20 20.0
31683400| k). bnwpwstuhs uu hwtn 1000 10 10.0
44191700|Cwnwth wnpbnhwt uu hwn 600 10 6.0
44511240 4dwpgui uu hwtn 1800 3 54
44511240 | Swihwlwnipp uu huwin 1800 3 5.4
44511240\ Lbnwonipe Uu hwn 1800 3 5.4
44831500{Lnidhs uu thtnp 800 1 0.8
42661100|2nnhs 40-60WT uu hwn 2500 1 2.5
42661100{2nnhs 90-100WT uu hwn 3000 1 3.0
31681900| Ejywnpwlwu npby 700-800W uu hwn 30000 1 30.0
31681900| £ ywnpwlywu npty 1000-1200W uu hwwn 35000 1 35.0
44511200|Unng dbwnwnh uu hwn 3000 1 3.0
09210000|<bnniy jnin uu gpwu 3 200 0.6
44511330 | Minnunwlwhwt niuhyGpuug uu hwn 1500 1 15
09210000|Uwanty jnin Lhwnng uu gpwd 3 200 0.6
44511330| ElEYunpwlwy wununwlwhwu uu hwun 25000 1 25.0
4451330 Minnunwlywhwu uu hwtn 1500 9 13.5
44112730 4wnpnn pwp uu hwwn 1200 10 12.0
44531193 |Uulynibwy Bpywpeb wjwuwndw uu hwtn 150 20 3.0
44531193 Uulynuwy Gplwpt uu hwn 100 10 1.0
42671170funng U hwwn 4000 1 4.0
44511260 hnywpnine uu dbuinp 2200 4 8.8
39221420{ tunquitwy 2htwpwpwlwl uu hwn 550 12 6.6
44831500 (Lnuahg uu lhwp 1000 10 10.0
44521190 | Pwuwhubn uu hwywp 5000 1 ol
44921500|otithwdwénly ghwuwhu uu g 180 90 16.2
44163170| Nwnhub Yuwd uhjhynub funnnywly,3/4° uu dbwn 400 100 40.0

44111413 | Sniqwiubiply uwyhwwly uu e} 1200 25 30.0

441414 LbpYy pwinbpuwiht uu lag 1000 100 100.0

Ofutp, Gypn wwwnnthwuh,

44221161 uwyhunwly,2wgwbwlwgnyu uu hwuwn 300 40 12.0
44221161 {otuuh, Gypn nnwu, uwhwuwl,ywgwlwlwgnyu Ul hwin 350 200 70.0
44112140 Cwwnwlh dwdl jwihuwgywd Ju 24 4856 an 242.8
44191700|Cphowlh nbwnwubn Uu hwn 153.6 25 3.8
44191700{Cphowy uu dbiwnp 750 21 15.8
24911300|Unuptd dndbtun uu gpwd 1500 i 3.0
15911100 Uwghpun Ul (htnp 2500 1 25
24911300 |Unwybip unuhta Uu hwin 700 3 2.1




24423600] Ubniuhg dwuwybu Uu
11512360 | Lnwwpdwy- yinp (uudyy uu hwwn 2000 5 10.0
39515440/ MNunuwhw)wg Jpuwwpwgnyn uu pd 5000 60 300.0
31711100 | hwdwp / UL hww 40500 1 40.5
34921440| Unpuidw uu huwin 3000 40| 120.0
39111190 Pwglwenn Uu hwwn 38000 IO| 380.0
Cudwlupgsught bbby

31151120 | Uufuwipwu ulmgdwl uwpp qL huwn 35000 9 315.0
30232231 |4nzn ujudunwy &g hww 25000 1 25.0
30211220 cwiwywnghs 1 ac ol 290000| zoi— 5800.0
30211220 cwiwywnahs? ac —onl 336000] 5| 1680.0
30232110 Swhy (wgbipwypu ag hwwn 72000 5 360.0
30239160 | Pwqiwdniuyghnuwl wnuyhs uwnp QL hwwn 98500 3 2955
30121460 |Swhsh pwpenpg ! ag huwwn 8000 3 24.0\
30121460{Swhsh pwpenpg 2 S huun 6500 4 26.0
30121460 Swhsh pwprnhy 3 Q< hwwn 8000 3 24.0

[ 30121460|Swhsh pupenhs 4 9< hwu| 4000 2 8.0
30121460 | Swhsh pwpenhs 5 ac hunn| 4000 i zﬂ
30121460|Swhsh pwprerhg 6 Q<L huiwn 6000 1 6.0
30121460 |Swhsh pwpephe 7 q< hwtn 4000 4 16.0

iﬁ 30121460 |Swhsh pwpRPh9 8 QL hwn 10000 2 20.0
lﬁ 30232480 |Upunwpht Ynawn ufuyuwnwy Q< hwwn 38000 1 38.0
| 30236110{0wbpwwhy hhgnnnieini 1 QL ey 14000 2 28.0
30236110 {Owtpwwnhy hphgnnnieniu 2 QL ey 8000 2 1@\
30236110 |0wbpwinhy hhonmnupjniu 3 QL hwwn 8000 2 16.0
30237132|USB tplwpwguiwl Wn Q< hwn 1500 5 75
30237112 |Cwiwlwpgsh uunguiw piny ! G< hwwn 29000 2 58.0
30237112 | Cwdwluwpgsh yuniglwl piny 2 Q< hwwn 9500 10 95.0
30211260|Mpngtunph hnJwgnighs | QL hwwn 3000 2 6.0
30211260 | Mpngliunph hndwgnighy 2 QL i 3500 7] 7.0

r 30237300 @Gpdnpuniy QL hwwn 550 ] L‘N
30211260 | <nuwtiph wrwwunbp Q< hwwn 4500 3 135
30237460 |Cwdwlwpgsh unbnuwwn QL hwn 5500 10 55.0
30237411 | Cwtwlwpgsh dyuhy 9 hun 3500 15 52.5
30237300|3nunuiwl puniy QL hwun 500 2 1.0
30211260 | Lwglipwhu ulwywnwy g hwn 4500 1 45
30237136 | Awjuwjhl pupun Qg hwn 5000 2 10.0

\1 30237135 |8wugwihu pwpun 1 G< hwin 3500 ) 7.0
30237135|8wugwjhu pwpu 2 QL huwn 5000 2 10.0
324211003 wuguipu duwpniu uu] huwn 24705 2 49.4
30237113 | 8wugwjht ynutlwnnp L hwwn g7l 100 2.8
31211200 3wugwjhu thnfuwugwinhy ud hwin 1000 10 10.0
21684400 |Swuguht unnuly uu hun 1000 10 10.0
324212003 wlgwjpu dhwynpps 1 uu hwwn 5000 3 15.0
32421200 | Swligujht dhugnpps 2 uu huwtn 20000 2 40.0
32421200 3wuguyhls dhwynphs 3 uu huwwn 24000 2 48.0
324212003 wlguwyht anp&hputinh hwywpwdnt Ul hwn 40000 i 40.0

[ 30237490 Unupunnp ac Pk 115000 9 1035.0
[ 3234110]runuuntm uu hwmt- 22500 4 90.0




32341140 | Uywuswlyw| dhlypn$nuny uu hwin 6500 17 10.5
32421200 | Swugwjhu nwniabp uu huwin 9000 2 18.0
32421200 |Swugwjhu dhwynphs uu hwin 24000 1 24.0
44322100 [Swugwjhu UTP dwinifu uu hwn 23000 1 23.0
30237113 [5e gwuguwyhu Ynubljtnnp uu huwn 70 50 3.8
32341110} Pwpapuwfunu uu hwtn 5500 3 16.5
32341140 | Uywlgwlwi+funuwihnn Ul hwwn 2900 25 25
31171400 | entuwltpwhs uu hwtn 1500 15 225
30237240 |utp inbuwfughl uu hwn 5000 3 15.0
brklnnpniuyhl §Ebqupuyhl mkfulihlo
39714200 0nnpwlhsutn uu hwiwn 332000 3 996.0
Quguyhll unkihp
0 9411710| UbindJwd puwlwl qug uu ya 320 2200 704.0
9135200 <bnniy qug uu thiip 170 1000 170.0
Junkihp
9132100|~Lughu, wpbdhnu uu thinp 480 1000 480.0
22110000 Swwagnywsd gppbip Ly hwwn 1000000 1 1000.0
34320000|Udnnuwhbunwdwbp uu huwtn 980000 1 980.0
OUNUBARPIMNALLES
92411100|r3tpreh pwdwunprwgpnipjwl Swnwniniu uu npwd 500000 1 500.0
79961100 Lnwwulwpswlywu dwnwnuziniuubp uu npwu 1000000 1 1000.0
79341100 | Snywgnwiht dwnwjnient uu nnwd 700000 1 700.0
79521100 | Nwwntbuwhwudwl dwnwynigmiuubp uu npwd 200000 1 200.0
79211190 | Mwpuwnhp wninhinh Swnwniniu Qc npwy 2000000 1 2000
Cwdwlwpgswiht uwppbph wwhwwudw -
50311120 |Jbpwunpngdwl dwnwinizniuubn uu npwd 990000 1 990.0
Lwdwlwngswihu wbhuthlwh odwtnwlydwu
72611100 | dwnwjnipniu uu nnwd 990000 1 990.0
Jopwunpngdwt b wwhwwudwu
50531200 [dwnwynipniutiip uu npwd 400000 1 400.0
50111330 | dwnwynip|niu uu npwd 800000 1 800.0
63521200 | PEnuwhnfuwnpdwy Swnw)nipniu uu npwd 150000 1 150.0
Pnfuwnpwdhengubiph hbin Yuwywd
66511170 | wwwhnjwgpulwl dwnwjniniubp uu npwd 162000 1 162.0
60120000 Swpuh dwnwynip|ntu uu npwd 100000 1 100.0
60231200 |swnwjnieniuubp uu npwd 500000 1 500.0
Uywnndbpbuwutiph Jwodwi b utdwuwinhwy
50111180 | dwnuwiynipniulbp Ul npwd 200000 1 200.0
Lwdwgwugw)ht dwnw)nipiniuutbn
72411100 dwunnignnubip(isp) ag npuwd 2970000 1 2970.0
Ywgdwlybpwnipywu punhwunip hbnwfunuwht
64211230|gwugh dwnwjnizntu q< npwd 1056660 1 1056.7
65310000 | Elabwnpwtubipghwih pwafudwt dwnwjnie)niu uu npwd{ 17000000 1 17000.0
65210000 | S wgh puipfubiul Swnwnip|nty uu npwd| 9000000 1 9000.0
65111000|2nh pwoiudwl dwnwnipinil uu nnuwd 2000000 1 2000.0
90511000 Unpwhuwunipjwl Swnwjnipniu uu npwd 1020000 1 1020.0
90921200 | Henwwnhqughw uu npwd 15000 12 180.0
90431100 {4bnunwentph hbnwgdwl dwnwjniniuttp uu nnwd 55000 1 55.0
64112000| @nuwnwihu dwnuw)nipntu Uu npwd 150000 1 150.0
Shuinwdnnnyutiph L gnpdnindwu
Swnwynipiniubbp(Yuunuwynp enwihu
60411200 | hnfuwnpdwl Swnwnipjniubn) Uu npwd 2000000 1 2000.0




Pudbutipwlywl Ywhiwgddwl dwnwjnigniutin

71322000 | pwnuwpwghwlwu 2huwbwpnizjwi hwdwp uu npwud 650000 1 650.0
Zhduwlwt Jhongutiph Yepwalwhwindwu
79000000 | Swnuwiyntp|niu Uu npwd 950000 1 950.0
70311200{Upwhh qupdwlhwinigniu uu npwd 998000 1 998.0
98391160 | Uywpuwwlwu dhongwndwl Yuqdwltpwynu uu npwd 998000 998.0
50531140 | Pnpdwpluntp|wu dwnw)niniuutbp Uu npwy 60000 1 60.0
UChUSULLLES
Chuptipp, 2hunteniuubph pupwghly
45461100 |yGpwunpngidwl wafuwwnwupubip e npwd| 31360000 1 31360
452313 | lunnnywlutiph thnfuwphldwl wpluwnwuplbp uu npwd 180000 1 180.0
79810000 [ Swywagnpwlwl w)luwnwuputin ag npwd 1500000 1 1500.0
79821190 Hhyyndubph nwwgpnipintu uu nnwd 2500000 1 2500.0
Mwduwptinphtbp
bnupnighnuh hiupphipnup
UAraLrLLeEr
Apbitnuljwrll whipnyplibp
30197622|(nine A4 qC unnith 1690 20 33.8
30192740 (dnine A4, gnitwynp Q<L tnith 1250 60 75.0
30197635|@nune A4 hwuwn, wwinyngph hwdwp G wnuh 4875 3 14.6
30197231 Dy G hwwn 8 5000 40.0
22811150| LUnpwntiinp A4 Uu hwun 360 100 36.0
22811150 Lnpwuwnbwp AS uu hwun 150 150 225
39263200|9pwublywlywiht dwwnjwt 60 Lo uu hwwn 550 50 275
2281M130|Skwnp hwuwn Uy hwun 500 50 25.0
30192128|9nhs ul gbjwhu a< hwtn 150 150 22.5
30192121{Snhs /Yywunyw/ Q< hwn 60 100 6.0
301921219 phs /ywpdhp/ S hwn 60 50 3.0
30192122|Qphs /ul/ qL hwtn 60 20 12
30192130|Uwwnhwn upwd, nbnphut sugngny, No HB Q< huwn 100 100 10.0
30199420) Lonwdubiph enine unutdywépny G< winuh 390 30 L7
30197112  Ywphsh wubin dbd 26/6 qc winith 200 10 2.0
30197322 |4wphy 25 -50keh hudwn ¥4 huwitn 2000 5 10.0
30197230|fenpwwwuwl ntghuny Be huin 220 50 1.0
22851100 | Upwgwlwpubp wwuwnply uu hwwn 210 50 10.5
30197230| [Anpwwwluwl-nbghuwnp Gplonwywuh QL hwtn 500 50 25.0
30197230 pnrwwwlwl-puyny Che hwtn 550 20 11.0
24911300{Unuhu& hnndy uu hwwn 150 10 1.5
30192160 Cwnphfu S hwuwn 170 30 3.1
30192160|Guphtu gphs q< huwn 270 30 8.1
30192125 Fpwwnwfunwyh dwplbnp, Yuwnyn e hwwn 210 200 42.0
30192125 | Spwunwiumwyh dwplbn, Yundhp q< hwtn 210 200 42.0
30192125 Spwwnwfunwyh dwpltp, ul G hwwn 210 200 42.0
39241210\ Ulpwn uu hwin 420 50 21.0
30192133|Unphs Q< huwitn 180 20 3.6
30192210|UYyns Jb& Gz hwin 350 20 7.0
30192230|6pYyynndwuh ulyns QL hwn 460 20 9.2
30141200 | <wpdwuwnp Q< hwwn 5450 3 16.4
301972203 neh wdpwl /ubindwy 19 dd/ QL wnnth 240 20 4.8
30197221|fnreh wdpwl /utindwly 51 dd/ 5 wnnuh 890 20 17.8
30197221 {@neh wipwl /utndwl 2804/ Q< wntth 360 20 7.2




39263400/ @ nph winwl uu wnuth 145 20 2.9
30192111 4uhph pwpahly RS0 Ywwnywn Q< huwin 2500 3 ra
30192111 |fGwuwph pwpdhly Ywwnyn Q< hwtn 280 3 0.8
39292110| Snwwnwiunnwy $ihw-swpwn uu hwtn 33000 3 99.0

39263320|Opwgnyg wwwnh uu hwun 1450 5 7.3
39292120 | Spwnwfuinwyh dwpphsubip uu huwin 560 50 28.0
30195911 |Spwinwfunwyh dwquhu QL wnntth 580 20 1.6
44921600 | 4wyhé uu wnuh 160 100 16.0
22811150{Opwghp-unpwwnbnn uu huwtn 3000 35 105.0

ouRUBARA3ARLLEL

60120000 | Swpuh dwnwjni@niu uu nnwd 100000 1 100.0
60231200 |dwnwjntpntuubp uu nnwy 400000 1 400.0

Cwdwlwpgswiht nbGuthljw
32341110{P|nienip pwpdpwiunu uu huwin 25000 2 50.0
32341130 |P|nienie wlwusw)wnpubp uu hwwn 13000 3 39.0
Stumnbuwljw

39511200 |Bwdihnpnwlwu pwndbp uu hwn 5500 4 22.0
39221140 | Pwdwlubp Ul huwitn 3000 3 9.0
18521300|abnph uwnpunwght plung Uu hwn 18000 2 36.0

«Umnbndwpwp dnph uinninhws dpwghp
ounusnhesnhuuer
Lbphuwjwgnigswwt b wpwpnnulwpguiht
98391160 | dSwnwjnipniuutin uu npwd 100000 1 100
L{Enwbljwpwyhb
nunufbwuhpmpyniiibph b
bwjuwdbnumpyntiubph YEunpnu
Wyluwnwipubp
Atnuwpyubph, ppnintpubnh nwwgnpdwl
79821190 | Swnwyni@nLu QL npwd 605000 1 605
Chywidkip Zwpop kpkunit Uhihnk kpkp hwpynip qupuntisnpu hwquip| 130,364

Gunwlubph pwduh whn
8nL.Qupupul
hEn. 060-830-111/254




